Advanced Math
6-3

(Day 2)
Vectors 1n a Plane

General unit vector - endpeint on unit ciccle
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Trig form of a vector -

T = ﬂﬁ”(fcose*-?siﬂé> v |}

— 2> —)

Write the trig form of v at the right.
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Find a unit vector in the cirection of the given vector. (pg. 541)
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Note the unit vector has magnitude 1.




Find the vector v with the given magmtude and the same direction as u.
ld” - J 29 OCA‘

Q) ' I -£ ad IT
) | v|| =2 u=_-2i-5j = ¢-2,-5 ) Lanb: = Ou

S 6 o o= 68 177
'\_7-; (2 <L cos 243.199 « J Siq 2‘/8‘”9) TK +120°
24¢e ﬁ7

RR¢-2) T 12¢-8)
29 © NS
= gs——? ;\9-‘\1:2__' Arctan will only

Find the magnitude and direction angle of v. place answers in
o Lt Anos quadrants I and IV.
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Optional bearing
notation.

Find the,resultant force acting upon an object given:
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Angles need to be measured in standard
notation when using the trig form.




An object is stationary if the resultant forces acting upon it = 0. If a weight
is suspended as shown, how much tension is in each supporting cable?
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Assignment:
pg. 540
1-24 all,
37-42 all.




